

$$\begin{aligned}
 \text{N}^\circ 322 & \sqrt{[(6^2)^3 : 6^3 : 6^2 + 7^2 - 7 \cdot 5]^2 : 10^2 - [(2^2 \cdot 5 - 2^2 \cdot 3)^2 : (2^3)^2 - 7^0]} = \\
 & \sqrt{[6^6 : 6^3 : 6^2 + 49 - 35]^2 : 10^2 - [(6 \cdot 5 - 4 \cdot 3)^2 : 2^6 - 1]} = \\
 & = \sqrt{[6 + 49 - 35]^2 : 10^2 - [(20 - 12)^2 : 64 - 1]} = \\
 & = \sqrt{[55 - 35]^2 : 10^2 - [8^2 : 64 - 1]} = \\
 & \sqrt{20^2 : 10^2 - [64 : 64 - 1]} = \\
 & \sqrt{(20 : 10)^2 - [1 - 1]} = \sqrt{2^2 - 0} = \sqrt{4} = 2.
 \end{aligned}$$

$$\begin{aligned}
 \text{N}^\circ 329 & \sqrt{(1 + 0,5 \cdot 0,3) : (2 - 0,8\bar{3}) + 2,6 + 0,3 + \frac{1}{70}} = \\
 & = \sqrt{(1 + 0,15) : (2 - \frac{5}{6}) + \frac{8}{3} + \frac{1}{3} + \frac{1}{70}} = \\
 & = \sqrt{1,15 : (\frac{12 - 5}{6}) + \frac{8}{3} + \frac{1}{3} + \frac{1}{70}} = \\
 & = \sqrt{\frac{23}{20} \cdot \frac{63}{7} + \frac{8}{3} + \frac{1}{3} + \frac{1}{70}} = \\
 & = \sqrt{\frac{69}{70} + \frac{8}{3} + \frac{1}{3} + \frac{1}{70}} \stackrel{\textcircled{1}}{=} \sqrt{\frac{69}{70} + \frac{1}{70} + \frac{8}{3} + \frac{1}{3}} = \sqrt{\frac{70}{70} + \frac{9}{3}} = \\
 & = \sqrt{1 + 3} = \sqrt{4} = 2
 \end{aligned}$$

$$\left. \begin{aligned}
 0,8\bar{3} &= \frac{83-8}{90} = \frac{75}{90} = \frac{5}{6} \\
 2,6 &= \frac{26-2}{9} = \frac{24}{9} = \frac{8}{3} \\
 0,3 &= \frac{3}{9} = \frac{1}{3} \\
 1,15 &= \frac{115}{100} = \frac{23}{20}
 \end{aligned} \right\}$$

$$\textcircled{2} \sqrt{\frac{207 + 560 + 70 + 3}{210}} = \sqrt{\frac{840}{210}} = \sqrt{\frac{84}{21} \cdot 3} = \sqrt{\frac{12}{3} \cdot 3} = \sqrt{4} = 2$$

(:7)
(:3)

$$1 + \underline{0,5 \cdot 0,3} = 1 + \frac{5}{10} \cdot \frac{3}{10} = 1 + \frac{15}{100} = 1 + \frac{3}{20} = \frac{20+3}{20} = \frac{23}{20}$$